

CERTAIN NEW RESULTS OF THE S-GENERALIZED GAUSS HYPERGEOMETRIC FUNCTION TRANSFORM

M. K. Bansal and R. Jain

Department of Mathematics,
 Malaviya National Institute of Technology,
 Jaipur 302017, Rajasthan, India
 E-mail: bansalmanish443@gmail.com, rashmiramessh1@gmail.com

Dedicated to Prof. A.M. Mathai on his 80th birth anniversary

Abstract: The aim of the present paper is to further study the S-generalized Gauss hypergeometric function transform recently introduced by Srivastava, Jain and Bansal [11]. In the course of our study, we establish image of Fox H-function in the S-Generalized Gauss hypergeometric function transform and obtain the images of five useful and important cases of Fox H-function (Generalized Bessel function, Gauss Hypergeometric function, Generalized Mittag-Leffler Function, Krätzel Function and Lorenzo Hartley G-function) under the S-generalized Gauss hypergeometric function transform.

Keywords: S-Generalized Gauss hypergeometric function, Fox H-Function, Complex integral representation, Integral transform.

2010 Mathematics Subject Classification: 33C20; 33C60; 30E20; 44A20.

1. Introduction and Definitions

S-Generalized Gauss Hypergeometric Function

The S-generalized Gauss hypergeometric function $F_p^{(\alpha, \beta; \tau, \mu)}(a, b; c; z)$ was introduced and investigated by Srivastava et al. [5, p. 350, Eq. (1.12)]. It is represented in the following manner:

$$F_p^{(\alpha, \beta; \tau, \mu)}(a, b; c; z) = \sum_{n=0}^{\infty} (a)_n \frac{B_p^{(\alpha, \beta; \tau, \mu)}(b+n, c-b)}{B(b, c-b)} \frac{z^n}{n!} \quad (|z| < 1) \quad (1.1)$$

provided that, $(\Re(p) \geq 0; \min\{\Re(\alpha), \Re(\beta), \Re(\tau), \Re(\mu)\} > 0; \Re(c) > \Re(b) > 0)$

in terms of the classical Beta function $B(\lambda, \mu)$ and the S-generalized Beta function $B_p^{(\alpha, \beta; \tau, \mu)}(x, y)$, which was also defined by Srivastava et al. [5, p.350, Eq.(1.13)] as follows:

$$B_p^{(\alpha, \beta; \tau, \mu)}(x, y) = \int_0^1 t^{x-1} (1-t)^{y-1} {}_1F_1 \left(\alpha; \beta; -\frac{p}{t^\tau (1-t)^\mu} \right) dt \quad (1.2)$$

$$(\Re(p) \geq 0; \quad \min\{\Re(x), \Re(y), \Re(\alpha), \Re(\beta), \Re(\tau), \Re(\mu)\} > 0)$$

and $(\lambda)_n$ denotes the Pochhammer symbol defined (for $\lambda \in \mathbb{C}$) by (see [6, p. 2 and pp. 4-6]; see also [7, p. 2]):

$$\begin{aligned} (\lambda)_n &= \frac{\Gamma(\lambda + n)}{\Gamma(\lambda)} \\ &= \begin{cases} 1, & (n = 0) \\ \lambda(\lambda + 1) \dots (\lambda + n - 1), & (n \in \mathbb{N} \quad := \{1, 2, 3, \dots\}) \end{cases} \end{aligned} \quad (1.3)$$

provided that the Gamma quotient exists (see, for details, [9, p. 16 et seq.] and [10, p. 22 et seq.]).

For $\tau = \mu$, the S-generalized Gauss hypergeometric function defined by (1.1) reduces to the following generalized Gauss hypergeometric function $F_p^{(\alpha, \beta; \tau)}(a, b; c; z)$ studied earlier by Parmar [14, p.44]:

$$F_p^{(\alpha, \beta; \tau)}(a, b; c; z) = \sum_{n=0}^{\infty} (a)_n \frac{B_p^{(\alpha, \beta; \tau)}(b+n, c-b)}{B(b, c-b)} \frac{z^n}{n!} \quad (|z| < 1) \quad (1.4)$$

$$(\Re(p) \geq 0; \quad \min\{\Re(\alpha), \Re(\beta), \Re(\tau)\} > 0; \quad \Re(c) > \Re(b) > 0).$$

which, in the *further* special case when $\tau = 1$, reduces to the following extension of the generalized Gauss hypergeometric function (see, e.g., [4, p.4606, Section 3]; see also [3, p. 39]):

$$F_p^{(\alpha, \beta)}(a, b; c; z) = \sum_{n=0}^{\infty} (a)_n \frac{B_p^{(\alpha, \beta)}(b+n, c-b)}{B(b, c-b)} \frac{z^n}{n!} \quad (|z| < 1) \quad (1.5)$$

$$(\Re(p) \geq 0; \quad \min\{\Re(\alpha), \Re(\beta)\} > 0; \quad \Re(c) > \Re(b) > 0)$$

Upon setting $\alpha = \beta$ in (1.5), we arrive at the following extended Gauss hypergeometric function (see [13, p.591, Eqs. (2.1) and (2.2)]:

$$F_p(a, b; c; z) = \sum_{n=0}^{\infty} (a)_n \frac{B_p(b+n, c-b)}{B(b, c-b)} \frac{z^n}{n!} \quad (|z| < 1) \quad (1.6)$$

$$(\Re(p) \geq 0; \quad \Re(c) > \Re(b) > 0)$$

The S-Generalized Gauss Hypergeometric Function Transform

Srivastava and the present author have recently introduced the following S-generalized Gauss hypergeometric function transform [11]:

$$\tilde{\mathfrak{S}}[f(z); s] = \varphi(s) = \int_0^{\infty} F_p^{(\alpha, \beta; \tau, \mu)}(a, b; c; sz) f(z) dz \quad (1.7)$$

where $f(z) \in \Lambda$, and Λ denotes the class of functions for which

$$f(z) = \begin{cases} O\{z^\zeta\}, & (z \rightarrow 0) \\ O\{z^{w_1} e^{-w_2 z}\}, & (|z| \rightarrow \infty) \end{cases} \quad (1.8)$$

provided that the existence conditions in (1.1) for the S-generalized Gauss hypergeometric function $F_p^{(\alpha, \beta; \tau, \mu)}(.)$ are satisfied and

$$\left. \begin{aligned} &\Re(\zeta) + 1 > 0 \\ &\Re(w_2) > 0 \quad \text{or} \quad \Re(w_2) = 0 \quad \text{and} \quad \Re(w_1 - a + 1) < 0 \end{aligned} \right\} \quad (1.9)$$

Fox H-Function

A single Mellin-Barnes contour integral, occurring in the present work, is now popularly known as the H -function of Charles Fox (1897-1977). It will be defined and represented here in the following manner (see, for example, [8, p. 10]):

$$\begin{aligned} H_{P,Q}^{M,N}[z] &= H_{P,Q}^{M,N} \left[z \left| \begin{array}{c} (a_j, \alpha_j)_{1,P} \\ (b_j, \beta_j)_{1,Q} \end{array} \right. \right] = H_{P,Q}^{M,N} \left[z \left| \begin{array}{c} (a_1, \alpha_1), \dots, (a_P, \alpha_P) \\ (b_1, \beta_1), \dots, (b_Q, \beta_Q) \end{array} \right. \right] \\ &:= \frac{1}{2\pi i} \int_{\mathfrak{L}} \Theta(\mathfrak{s}) z^{\mathfrak{s}} d\mathfrak{s}, \end{aligned} \quad (1.10)$$

where $i = \sqrt{-1}$, $z \in \mathbb{C} \setminus \{0\}$, \mathbb{C} being the set of complex numbers,

$$\Theta(\mathfrak{s}) = \frac{\prod_{j=1}^M \Gamma(b_j - \beta_j \mathfrak{s}) \prod_{j=1}^N \Gamma(1 - a_j + \alpha_j \mathfrak{s})}{\prod_{j=M+1}^Q \Gamma(1 - b_j + \beta_j \mathfrak{s}) \prod_{j=N+1}^P \Gamma(a_j - \alpha_j \mathfrak{s})}, \quad (1.11)$$

and

$$1 \leq M \leq Q \text{ and } 0 \leq N \leq P \quad (M, Q \in \mathbb{N} = \{1, 2, 3, \dots\}; \quad N, P \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}), \quad (1.12)$$

an empty product being interpreted to be 1. Here \mathfrak{L} is a Mellin-Barnes type contour in the complex \mathfrak{s} -plane with appropriate indentations in order to separate the two sets of poles of the integrand $\Theta(\mathfrak{s})$ (see, for details, [1] and [8]).

2. Main Result

In this section, we obtain the image of Fox H-function under the S - generalized Gauss hypergeometric function Transform.

2.1. The S-Generalized Gauss Hypergeometric Transform of the H-function

The S-Generalized Gauss hypergeometric Transform (1.7) of Fox H-function (1.10) defined as follows :

$$\begin{aligned} & \tilde{\mathfrak{S}} \left[z^\kappa H_{P,Q}^{M,N} \left[Az^\sigma \left| \begin{array}{c} (a_j, \alpha_j)_{1,P} \\ (b_j, \beta_j)_{1,Q} \end{array} \right. \right] ; s \right] \\ &= \int_0^\infty F_p^{(\alpha, \beta; \tau, \mu)}(a, b; c; sz) z^\kappa H_{P,Q}^{M,N} \left[Az^\sigma \left| \begin{array}{c} (a_j, \alpha_j)_{1,P} \\ (b_j, \beta_j)_{1,Q} \end{array} \right. \right] dz \\ &= \frac{\Gamma(\beta) A^{-\frac{\kappa+1}{\sigma}}}{\sigma \Gamma(\alpha) \Gamma(a) B(b, c-b)} H_{1,1:1+Q,1+P;3,1}^{0,1:1+N,1+M;1,2} \left[\begin{array}{c} -\frac{s}{A^\sigma} \\ \frac{1}{p} \end{array} \left| \begin{array}{c} (1-b; 1, \tau) : A^* \\ (1-c; 1, \tau + \mu) : B^* \end{array} \right. \right] \end{aligned} \quad (2.1)$$

where

$$A^* = (1-a, 1), (1-b_j - \beta_j \frac{(\kappa+1)}{\sigma}, \frac{\beta_j}{\sigma})_{1,Q}; (1, 1), (1-c+b, \mu), (\beta, 1)$$

$$B^* = (0, 1), (1-a_j - \alpha_j \frac{(\kappa+1)}{\sigma}, \frac{\alpha_j}{\sigma})_{1,P}; (\alpha, 1)$$

provided that the existence conditions in (1.1) for the S-Generalized Gauss hypergeometric function $F_p^{(\alpha, \beta; \tau, \mu)}(a, b; c; z)$ are satisfied and

$$(i) \min_{1 \leq j \leq M} \Re \left(\kappa + \frac{\sigma b_j}{\beta_j} \right) + 1 > 0 \quad (ii) \max_{1 \leq j \leq N} \Re \left(\kappa - a + \frac{\sigma(a_j-1)}{\alpha_j} \right) + 1 < 0$$

Proof. To prove the result (2.1), we first write the complex integral representation of S-generalized Gauss hypergeometric function defined in [11] and then change the order of ξ -integral with z -integral (which is permissible under the conditions stated), we obtain (say Δ)

$$\Delta = \frac{1}{2\pi i} \int_{\mathfrak{L}} \frac{(-s)^{-u} B(u, a-u) B_p^{(\alpha, \beta; \tau, \mu)}(b-u, c-b)}{B(b, c-b)} \left\{ \int_0^\infty z^{\kappa-u} H_{P,Q}^{M,N}[Az^\sigma] dz \right\} du \quad (2.2)$$

Now we evaluate the z -integral involved in (2.2) with the help of [8, p.15, Eq. (2.4.1)], we have

$$\Delta = \frac{1}{2\pi i} \int_{\mathfrak{L}} \frac{(-s)^{-u} B(u, a-u) B_p^{(\alpha, \beta; \tau, \mu)}(b-u, c-b)}{B(b, c-b)} \frac{\frac{1}{\sigma} A^{-(\frac{\kappa-u+1}{\sigma})} \prod_{j=1}^M \Gamma(b_j + \beta_j \frac{(\kappa+1)}{\sigma} - \frac{\beta_j}{\sigma} u) \prod_{j=1}^N \Gamma(1 - a_j - \alpha_j \frac{(\kappa+1)}{\sigma} + \frac{\alpha_j}{\sigma} u)}{\prod_{j=M+1}^Q \Gamma(1 - b_j - \beta_j \frac{(\kappa+1)}{\sigma} + \frac{\beta_j}{\sigma} u) \prod_{j=N+1}^Q \Gamma(a_j + \alpha_j \frac{(\kappa+1)}{\sigma} - \frac{\alpha_j}{\sigma} u)} du \quad (2.3)$$

Next, we express S-generalized Beta function in terms of complex integral form. Finally, we get the right hand side of (2.1) by reinterpreting the result in terms of H-function of two variables.

Special cases of (2.1)

Here we give S-generalized Gauss hypergeometric function Transform of the some important special cases of Fox H-Function involving Generalized Bessel function, Gauss Hpergeometric function, Generalized Mittag-Leffler Function, Krätzel Function and Lorenzo Hartley G-function.

1. **S-generalized Gauss hypergeometric function Transform of Generalized Bessel Function** In (2.1), if we reduce Fox H-Function to the Generalized Bessel function [8, p.19, Eq.(2.6.10)] by taking $M = 1, N = P = 0, Q = 2, b_1 = 0, \beta_1 = 1, b_2 = -\lambda, \beta_2 = \rho$, we can easily get the following S-generalized Gauss hypergeometric function Transform of Generalized Bessel

Function after a little simplification.

$$\begin{aligned}\tilde{\mathfrak{S}}[z^\kappa J_\lambda^\rho[Az^\sigma]; s] &= \int_0^\infty F_p^{(\alpha, \beta; \tau, \mu)}(a, b; c; sz) z^\kappa J_\lambda^\rho[Az^\sigma] dz \\ &= \frac{A^{-(\frac{\kappa+1}{\sigma})} \Gamma(\beta)}{\sigma \Gamma(\alpha) \Gamma(a) B(b, c-b)} H_{1,1:3,1;3,1}^{0,1:1,2;1,2} \left[\begin{array}{c} -s \\ \frac{1}{p} \end{array} \middle| \begin{array}{c} (1-b; 1, \tau) : A^* \\ (1-c; 1, \tau + \mu) : B^* \end{array} \right] \quad (2.4)\end{aligned}$$

where

$$\begin{aligned}A^* &= (1-a, 1), (1 - (\frac{\kappa+1}{\sigma}), \frac{1}{\sigma}), (1 + \lambda - \rho(\frac{\kappa+1}{\sigma}), \frac{\rho}{\sigma}); (1, 1), (1-c+b, \mu), (\beta, 1) \\ B^* &= (0, 1); (\alpha, 1)\end{aligned}$$

provided that the conditions are easily obtainable from the existing conditions of (2.1) are satisfied.

2. **S-generalized Gauss hypergeometric function Transform of Gauss Hypergeometric Function** Next, if we reduce Fox H-Function to the Gauss Hypergeometric function [8, p.19, Eq.(2.6.8)] by taking $M = 1, N = P = Q = 2, a_1 = 1 - u, a_2 = 1 - v, b_1 = 0, b_2 = 1 - w, \alpha_1 = \alpha_2 = \beta_1 = \beta_2 = 1$ in (2.1), we can easily get the following S-generalized Gauss hypergeometric function Transform of Gauss Hypergeometric Function after a little simplification.

$$\begin{aligned}\tilde{\mathfrak{S}}[z^\kappa {}_2F_1[u, v; w; -Az^\sigma]; s] &= \int_0^\infty F_p^{(\alpha, \beta; \tau, \mu)}(a, b; c; sz) z^\kappa {}_2F_1[u, v; w; -Az^\sigma] dz \\ &= \frac{A^{-(\frac{\kappa+1}{\sigma})} \Gamma(w) \Gamma(\beta)}{\sigma \Gamma(u) \Gamma(v) \Gamma(\alpha) \Gamma(a) B(b, c-b)} H_{1,1:3,2;1,2}^{0,1:3,2;1,2} \left[\begin{array}{c} -s \\ \frac{1}{p} \end{array} \middle| \begin{array}{c} (1-b; 1, \tau) : A^* \\ (1-c; 1, \tau + \mu) : B^* \end{array} \right] \quad (2.5)\end{aligned}$$

where

$$\begin{aligned}A^* &= (1-a, 1), (1 - (\frac{\kappa+1}{\sigma}), \frac{1}{\sigma}), (w - (\frac{\kappa+1}{\sigma}), \frac{1}{\sigma}); (1, 1), (1-c+b, \mu), (\beta, 1) \\ B^* &= (0, 1), (u - (\frac{\kappa+1}{\sigma}), \frac{1}{\sigma}), (v - (\frac{\kappa+1}{\sigma}), \frac{1}{\sigma}); (\alpha, 1)\end{aligned}$$

provided that the conditions are easily obtainable from the existing conditions of (2.1) are satisfied.

3. **S-generalized Gauss hypergeometric function Transform of Generalized Mittag-Leffler Function** Again, if we reduce Fox H-Function to the Generalized Mittag-Leffler function [2, p.25, Eq.(1.137)] by taking $M = N = P = 1, Q = 2$ and $a_1 = 1 - \delta, b_1 = 0, b_2 = 1 - \gamma, \alpha_1 = \beta_1 = 1, \beta_2 = \rho$ in (2.1), we can easily get the following S-generalized Gauss hypergeometric function

Transform of Generalized Mittag-Leffler Function after a little simplification.

$$\begin{aligned}\tilde{\mathfrak{S}} [z^\kappa E_{\rho,\gamma}^\delta[Az^\sigma]; s] &= \int_0^\infty F_p^{(\alpha,\beta;\tau,\mu)}(a, b; c; sz) z^\kappa E_{\rho,\gamma}^\delta[Az^\sigma] dz \\ &= \frac{A^{-(\frac{\kappa+1}{\sigma})}\Gamma(\beta)}{\sigma\Gamma(\alpha)\Gamma(a)B(b, c-b)} H_{1,1:3,2;3,1}^{0,1:2,2;1,2} \left[\begin{array}{c} -s \\ \frac{1}{p} \end{array} \middle| \begin{array}{c} (1-b; 1, \tau) : A^* \\ (1-c; 1, \tau+\mu) : B^* \end{array} \right] \end{aligned} \quad (2.6)$$

where

$$A^* = (1-a, 1), (-\kappa, 1), (\gamma - \rho(\kappa+1), \rho); (1, 1), (1-c+b, \mu), (\beta, 1)$$

$$B^* = (0, 1), (\delta - \kappa - 1, 1); (\alpha, 1)$$

provided that the conditions are easily obtainable from the existing conditions of (2.1) are satisfied.

4. **S-generalized Gauss hypergeometric function Transform of Krätzel Function** In (2.1), if we reduce Fox H-Function to the Krätzel function [2, p.25, Eq.(1.141)] by taking $M = Q = 2$, $N = P = 0$, $b_1 = 0, \beta_1 = 1, b_2 = \frac{\nu}{\rho}, \beta_2 = \frac{1}{\rho}$, we can easily get the following S-generalized Gauss hypergeometric function Transform of Krätzel Function after a little simplification.

$$\begin{aligned}\tilde{\mathfrak{S}} [z^\kappa Z_\rho^\nu(Az^\sigma); s] &= \int_0^\infty F_p^{(\alpha,\beta;\tau,\mu)}(a, b; c; sz) z^\kappa Z_\rho^\nu(Az^\sigma) dz \\ &= \frac{A^{-(\frac{\kappa+1}{\sigma})}\Gamma(\beta)}{\sigma\rho\Gamma(\alpha)\Gamma(a)B(b, c-b)} H_{1,1:3,1;3,1}^{0,1:1,3;1,2} \left[\begin{array}{c} -s \\ \frac{1}{p} \end{array} \middle| \begin{array}{c} (1-b; 1, \tau) : A^* \\ (1-c; 1, \tau+\mu) : B^* \end{array} \right] \end{aligned} \quad (2.7)$$

where

$$A^* = (1-a, 1), (1 - (\frac{\kappa+1}{\sigma}), \frac{1}{\sigma}), (1 - \frac{\nu}{\rho} - (\frac{\kappa+1}{\sigma\rho}), \frac{1}{\sigma\rho}); (1, 1), (1-c+b, \mu), (\beta, 1)$$

$$B^* = (0, 1); (\alpha, 1)$$

provided that the conditions are easily obtainable from the existing conditions of (2.1) are satisfied.

5. **S-generalized Gauss hypergeometric function Transform of Lorenzo Hartley G-function** In (2.1), if we reduce Fox H-Function to the Lorenzo Hartley G-function [12, p.64, Eq.(2.3)]gupta by taking $M = N = P = 1$, $Q = 2$, $a_1 = 1-r, \alpha_1 = 1, b_1 = 0, \beta_1 = \beta_2 = 1, b_2 = 1+\nu-r$, we can easily get the following S-generalized Gauss hypergeometric function Transform of

Lorenzo Hartley G-function after a little simplification.

$$\begin{aligned}\tilde{\mathfrak{S}}[z^\kappa G_{\sigma,\nu,r}[-A, t]; s] &= \int_0^\infty F_p^{(\alpha,\beta;\tau,\mu)}(a, b; c; sz) z^\kappa G_{\sigma,\nu,r}[-A, t] dz \\ &= \frac{A^{-(\frac{\kappa-\nu+r\sigma}{\sigma})} \Gamma(\beta)}{\sigma \Gamma(r) \Gamma(\alpha) \Gamma(a) B(b, c-b)} H_{1,1:3,2;3,1}^{0,1:2,2;1,2} \left[\begin{array}{c} -\frac{s}{A^\sigma} \\ \frac{1}{p} \end{array} \middle| \begin{array}{c} (1-b; 1, \tau) : A^* \\ (1-c; 1, \tau+\mu) : B^* \end{array} \right] \end{aligned} \quad (2.8)$$

where

$$\begin{aligned}A^* &= (1-a, 1), \left(\frac{\sigma-\kappa+\nu-r\sigma}{\sigma}, \frac{1}{\sigma}\right), (-\kappa, 1); (1, 1), (1-c+b, \mu), (\beta, 1) \\ B^* &= (0, 1), \left(\frac{\nu-\kappa}{\sigma}, \frac{1}{\sigma}\right); (\alpha, 1)\end{aligned}$$

provided that the conditions are easily obtainable from the existing conditions of (2.1) are satisfied.

References

- [1] A. A. Kilbas, H. M. Srivastava and J. J. Trujillo, *Theory and Applications of Fractional Differential Equations*, North-Holland Mathematical Studies, Vol. **204**, Elsevier (North-Holland) Science Publishers, Amsterdam, London and New York, 2006.
- [2] A. M. Mathai, R. K. Saxena and H. J. Haubold, *The H-Function: Theory and Applications*, Springer, New York, 2010.
- [3] E. Özergin, Some properties of hypergeometric functions Ph.D. Thesis, Eastern Mediterranean University, North Cyprus, Turkey, 2011.
- [4] E. Özergin, M. A. Özarslan and A. Altin, Extension of gamma, beta and hypergeometric functions, *J. Comput. Appl. Math.* **235**(2011), 4601–4610.
- [5] H. M. Srivastava, P. Agarwal and S. Jain, Generating functions for the generalized Gauss hypergeometric functions, *Applied Mathematics and Computation* **247**(2014), 348–352.
- [6] H. M. Srivastava, M. A. Chaudhry and R. P. Agarwal, The incomplete Pochhammer symbols and their applications to hypergeometric and related functions, *Integral Transforms Spec. Funct.*, **23** (2012), 659–683.
- [7] H.M. Srivastava, J. Choi, *Series Associated with the Zeta and Related Functions*, Kluwer Academic Publishers, Dordrecht, Boston and London, 2001.

- [8] H. M. Srivastava, K. C. Gupta and S. P. Goyal, *The H -Functions of One and Two Variables with Applications*, South Asian Publishers, New Delhi and Madras, 1982.
- [9] H.M. Srivastava, P.W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press (Ellis Horwood Limited), John Wiley and Sons, New York, Chichester, Brisbane, Toronto, 1985.
- [10] H.M. Srivastava, H.L. Manocha, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited), John Wiley and Sons, New York, Chichester, Brisbane, Toronto, 1984.
- [11] H. M. Srivastava, Rashmi Jain and M. K. Bansal, A Study of the S -Generalized Gauss Hypergeometric Function and Its Associated Integral Transforms, *Turkish Journal of Analysis and Number Theory*, **3**, (2015), 116–119.
- [12] K. C. Gupta, New relationships of the H -function with functions of practical utility in fractional calculus, *Ganita Sandesh*, **15**(2001), 63–66.
- [13] M. A. Chaudhry, A. Qadir, H. M. Srivastava and R. B. Paris, Extended hypergeometric and confluent hypergeometric functions, *Appl. Math. Comput.* **159**(2004), 589–602.
- [14] R. K. Parmar, A new generalization of gamma, beta, hypergeometric and confluent hypergeometric functions, *Le Matematiche* **68**(2013), 33–42.

